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1** Semester Examination, 2023 (Dec.)

Basic Concepts of Sociology

Time : 2 Hours ] [ Max. Marks : 70

Note :

Note :

This paper is of Seventy (70) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION—A
gug ‘&’
(Long Answer Type Questions)

(3rd I 9Tt w9 )

Section ‘A’ contains Five (05) long answer type

questions of nineteen (19) marks each. Learners
are required to answer any two (02) questions only.
2x19 = 38
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1. What do you understand by social group? Explain the
difference between primary and secondary groups.
TSR T § MY 1 e © 7 wefas ue fadias
el H @ W Hifsu)
2.  What is social process? Distinguish between

Association and Dissociation process.

IR YfRaT 1 &2 Gearh 3iR stagant ufemarst o
R T HifST|

3. Discuss the emergence and development of sociology

in India.

ARA § HHSRTS o6 3594 W@ fas™ | ==l &ifva)
4. What do you understand by Institution? Describe the

main characteristics of Institution.

e § oY A WHEd B2 THeR! wo@ fasivaeti @i

faa=rT shifsa

5.  Define Socialization. Describe the characteristics of
Socialization.
TSR Sl TR hifSTT SHeh! foRrwareti st foe=m
IS
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SECTION—B
gus ‘g’
(Short Answer Type Questions)
(g I T 9T )

Note: Section ‘B’ contains Eight (08) short answer type
questions of Eight (08) marks each. Learners are
required to answer any Four (04) questions only.

4x8 = 32

T : @ ‘@' | o8 (08) @Y SW ot weA 53 T R
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%! 570 W hael W) (04) Yl o S A

1. What do you understand by family?

URER @ o9 F1 gHE 7?2
2.  What is a Association?
wfufa =1 82
3.  Explain the types of Adaptation.

3T o TR ! AT HifSQ|

4.  Give definition of Accommodation and also describe
its types.
TAMISH &l IRATHT i gL STk ThRI hi STEAT
HifTg|
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5.  Explain the characteristics of conflict.
ToY i fovva SRt
6. Briefly explain the theory of socialization.
TSR0 o fagid i Hag § oqred shife|
7.  Describe briefly the types of Hindu marriage.

feg foame o WKl @1 Halg § auid sifsu)

8.  Explain Muslim marriage as a compromise.

Th GHE o B9 § qikem faare @i e st
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